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Question No : 1

Which of the following techniques would you use to upgrade an SAP Hana system and
keep the downtime to a minimum?

Please choose the correct answer.
Response:

A. Storage replication

B. high availability

C. system replication
D. partitioning

Answer: C

Question No : 2

You execute an authorization trace in the SAP HANA studio. Where can you review the
outcome?

Please choose the correct answer.

Response:

A. In the result screen of the trace configuration.
B. In the indexserver trace diagnosis file.

C. In the authorization dependency viewer.
D. In the monitoring view M_SERVICE_TRACES

Answer: B

Question No : 3

When you try to create a delivery unit in the SAP Hana studio you receive an error
message that the delivery unit CANNOT be created

How do you solve this problem?
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Please choose the correct answer.
Response:

A. Update the reg_change content parameter
B. update the content_vendor parameter

C. Grant the REPO. MODIFY_OWN_CONTRIBUTION privilege
D. Grant the REPO. MAINTAIN_DELIVERY_UNITS privilege

Answer: B

Question No : 4

You are using continuous system replication between SAP HANA systems in two separate
data centers.

What are the advantages of this scenario?

There are 2 correct answers to this question.

Response:

A. The take-over happens in less than 3 minutes.

B. Database changes are continuously updated to the secondary site.

C. The take-over only requires a roll forward since the last synchronization point.
D. Memory and CPU are used on the secondary site for shadow processes.

Answer: B,C

Question No : 5

In SAP HANA, what is the recommended memory size you must reserve for dynamic
objects?

Please choose the correct answer.

Response:

A. The same size as the uncompressed source data
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B. The same size as the total size of the log files
C. The same size as the total size of the data files
D. The same size as the memory required for static data

Answer: D

Question No : 6

When SAP Hana is not fully started or it is stopped which service does the SAP Hana
Studio use to collect information about the database status

Please choose the correct answer.
Response:

A. Index server

B. sapsatrtsrv

C. saposcol
D. name server

Answer: B

Question No : 7

Which situations lead to a system lockdown when using an enforced license

There are 2 correct answers to this question

Response:

A. the number of users connected exceeds the maximum number allowed by the license
key

B. the system ID is changed between backup and recovery

C. the memory consumption of SAP Hana is too high for the installed license
D. the permanent license expired three weeks ago

Answer: C,D
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Question No : 8

Where do you specify the instance number during the installation of SAP HANA?
Please choose the correct answer.

Response:

A. In the installer execution file

B. In the installer configuration file

C. In global.ini
D. In a dialog box prompt

Answer: B

Question No : 9

Which of the following can you do in the SAP HANA studio and also in the DBA Cockpit?
There are 3 correct answers to this question.

Response:

A. Execute system recovery.

B. Implement backup scheduling.

C. Monitor an SQLDBC trace.

D. Display the statuses of database resources.
E. View the tables in the _SYS STATISTICS schema.

Answer: C,D,E

Question No : 10

You need to read data from and write data to the Microsoft SQL server 2012 database
using SAP Hana system. You do not need to store the data in SAP Hana.

Which date of provision method do you use?

Please choose the correct answer.
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Response:

A. SAP Data Services

B. SAP Hana direct Extractor connection
C. SAP Hana smart data access

D. SAP replication server

Answer: C



